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Read the following;ins_tructions ca_tefully before you begin to answer the questions.

10.
11.

12.

IMPORTANT _INSTRUCTIONS

This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open
it at the commencement of the examination. As'soon as the signal is received you should tear the right
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. ‘
This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are
requested to check whether all the questions are there in series without any omission and ensure there
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall
be reported to the Invigilator within first 10 minutes. '
Answer all questions. All questions carry equal marks. , :
You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet. _ _
An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. _
You will also encode your Register Number, Subject Code, Question Booklet S1. No. etc. with Blue or
int in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.
Each question comprises four responses (A), (®B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case, you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet. - . :

‘In the Answer Sheet there are four circles @ , ® , © and@ égainst each question. To answer the

questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer

. Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If

for any'item,@ is the correct answer, you have to mark as follows :

®000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take

during the examination.
o the Invigilator. You are

this Question Booklet and the Answer Sheet out of the Examination Hall
Afte : ination is and ove ur Answer Shee

The sheet before the last page of the Question Booklet can be used for Rough Work.

~ Failure to comply with any of the above instructions will render you liable to such action or penalty as . -

the Commission may decide at their discretion. : »
Do not tick-mark or mark the answers in the Question booklet.
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, Which one is signed — 2's complement of (-20)?

P

@) 00010100 , (® 11101011
(C) 10010100 # 11101100
2. How many parts are in the floating-point number representation?
@ 4 | . ® 3

© 1 " <3

3. _ is a widély»ﬁsed alphanumeric code.
(A) BCD. - m’ Ascit
(O Hexadecimal | ®) Octal . .

4, | Which of the language can the oomputeril_inderstand?

(A) Transaction language - |
M Machme language

© Control language

(D) High-level language

.

5. Whi_'ch of the following is used for storing large amount of data?

&) FloppyDisk - e S
‘® CR-RW
Tape Dnve
m’ Hard Disk
c ) y - s ;' HC2CANG
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6. Give one example of control character in the printer
@) ZF | | p( FF
(C AF . . ‘ D) DF

*

7. Which kéyboard does not need any physical cable?

@) Wired | g Wireless

(C) Network " ; ., (D) Adhoc

8. How does the inkjet printer work?
(A) By striking appropriate pins agamst the paper

K By spraymg tiny dots of 1nk onto the paper
(C) By spraying the powder onto the paper

(D) By applying heat onto the paper

9. Identi.fy the following for impact printer type
(A) Laser printer- . (B) Inkjet printer

M Cham prmter _ | D) Therlxial_ prinﬁér

10. Operating System is a

K System software

1 (B)  Application software
©) Presentatmn software

‘ (D) Database software

HC2CA/16 4



11 Which of the following has many useful tools in windows OS?
M Accessories | S (B) Paint
() Word (D) Excel

12. Date and Time are displayed on 7
PO Taskbar (B) Status bar
(C) Menubar - : v. _ (D) Title bar

13.  Which aiccessories tool is used to draw pictures in windows operating sjrstem?
_ Calculator o _— : (B) Wordpad
M Paint brush B D) ‘Notepad _

14. | ATo properly qult wm&ows
A) Click on start button and select the restart option
(B) - Click on start button and select the exit option
% Click on start button and select the shutdown opuon

(D) Chck on start button and select the close optlon

» 15 : Whlch t>f the followmgrs not the essentlal component to perform a mall ralerge operatlon"
(&)  Main document
(B)‘ : ‘Data source
o V(VC) o Mergefﬁéidt
. pf " Word fields

e . 5 S ~ HC2CA/16
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- 16.

T3

18.

19.

20.

Which of the following opt10n in the file pull down menu is used to close a MS-Word

document? o :
@ Quit . - leose
© Exit | @) New

Copying text to the new place and removing it from its original place is called

(&)  Copying text

a

®) SeIectmg text

M Mov1ng text

(D) Deleting text

Content box and folder box are present in the _ - part of the explorer window.
(A)  Titlebar - (B) Menu bar
. (Q) Status bar N | M Indicai:or bar

Which application in MS-Office is used to create attractive and meaningful bexf documents?

" (A)  Microsoft Access

(B) Microsoft Excel

% ' Microsoft Word

(D) Microsoft PowerPoint

The intersection of a row and a column is called

;(Cen - ® Shel

 (C) - Sheet - | (D) Table

HC2CA/16 . | 6 o : | -



22.

23.

24,

. Match the following :

(a) Select the current oolumn-v , SR 1 A”‘Ctrv1+ VI :

(b) Select the current row - 2 - Ctrl + Ay -

(¢ Select all cells on the étirrent work sheet 3. °  Ctrl + space bar |

(d Formatcells dialogbox . 4. Shift + space bar

@ ® © @

@ 2 3 4 1

) 4 1 2 3

(B B
s a4 2 1

® 1 3 .4 .2

Portrait and hndscape are _

(A) * Page layout , - (B) Page margins
K Page orientation o (D) Paper size

The text that appear at the bottoin 6f eivery page of a document is
(A) Header | | S : M Footer
(© ‘Template = . (@) WordArt

Wluch keyboard shortcut open the goto dJalog box?
@& Cw+D MCtruG
© Fi2 . (D) Ctrl+Home

7 ' HC2CA/6
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25. In Power poinf presenfation the entry efféct as one slide repl#ces another in a show is called
(A) - Animation ‘ | | | |
W Slide transiﬁon
(C) Custom aniination

(D) Preset animation

- 26.  The view that display the slide on a présentation as miniature representations of the slide is

M Slide so:tei'.view S . B) ,Notes'j)age view
(C)  Out line view - (D) Slideshow ‘

27. Object on the slide that hold text are called

" / Place holders - ) (B) Object holders
(C) Textholders (D) Autohold

28. Which of the foIlowmg should be used when you want to add a shde to an emstmg

presentatmn" '

| (A) File, add anew shde

' M Insert, new shde

©) F11e, open
(D) File, new .

29. Special effects used to introduce slides in'a presentatiqn'ére:ca]led _
(A) Effects - | P o - (B) Cusfoﬁi animations .

M Transitions = - * (D) Presetanimations :

HC2CA/16 | I | . e



31.

32.

33.

34.

. Which of the following is used to desigxi the Layout‘of the table in MS-Access?

(A) Data sheet view -, ' M Deéign view
© - Prmt preview - , D) I\.Iormal view
‘ uniquely identifies each re(;ord in MS-Access table.
(A) Domain - | (B) Queries
% Primary Key ' _ - (D) Forms

Systematic way of retrieving infprniation from a database is done using

P Queries . . B) Data

(C) Object ' o ~ (D) Forms

The term ;SQL stands for

(@A) Seqﬁential Query Language

(B) | Syst:en; Quéry Language -

(C) Status Query Language | o (
M Stiuctured Query Language

Which data type in MS-Access guarax.lteed unique r'xumber,TWhen a new record is inserted
into the table? ' »

(A) - Currency

(B) Date & Time
% Auto Number

(D) OLE Object

9 o HC2CA/16
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35.

36,

37.

38.

39.

consists of world wide oollectiqn of docnments_.
(A) MS Office @ (B) Data mining

(C) Data warehouse o - M Web '

W'hich 6f the following is not the fyi:e of network?

@ waN o . ® MAN

© LAN | | prAN

is used for searching the Web.

(A) Scan engine _ ; - (B) Find engine
(C)  Discover engine ) o M Search engine

The Data communication system within a single buﬂding or campus upto a few kﬂometets in

size is

(A) WAN S (B) MAN

R

The coloured underlined string in webpage denotes
(A) ~ Spell check
®)  Error check

(O  Grammat check

% Link to other pageé

HC2CAN6 | 10



40. ’ : slot is used to insert NIC.
(A) AGP | . ® IDE -

& peI o , O cPU

41.  DIN connector has ' - pins
@ 4 . P>
©) -2¢ - @ 12

42.  The full form of VIRUS is
(A) Various Information Resource Under System |
(®) VIVA Rules System |
(O Very Important Report Under Secret

M Vital Information Resources Under Seize

»

’ 43.  Which of the following oﬁe software is not a Ant1 Virus?
o Firewall | (B Quick Heal
(© Norten "~ . () Dr.Solomon

44,  Avirusis ‘the malicious piece of software code that
(A) Targets to attack the processor
(:)) Attacks the hardware oomponents and make them fail

K Rephcates itself and infects other systems by spreadmg 1tself from one computer to

other computer

(D) Attacks mother board

c o : Y HC2CA/16
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45.

46.

Scanner Device Driver is a o | | . .
@ HW o - sw

© 1P o . ® or

Which of the following devices is an External Devices? '
(A) Mother board
(B) SMPS

ROM

(© _
- % Eye \_rision scanner

47.

48.

49.

The scanned files have stored in which of the following extension?

@ et N ™

©) _.;axcel . S - (D) .image

A bar code scanner emits . _
A) _Sound - . | ﬂ Light

(C)  Text , : S (D) Image

Which of the following is not a Bio-Metric Device?

(A) Iris S(:annef B - | ~(B) Thumb Scanner'

M Digital Camera : - (D) Voice recognizer

HC2CA/16 12



QO. Which one is called maxi computer?

(A) super computer "(B) micro computer
M mainframe compuber . D) ~mini coniputer
TN

51.  The program and data are entered into the computer through
(A) OutputUnit =~ ®) ALU
W Input Unit @) Control Unit

52.  Which is used for fetching and analysing each instruction in the program and issues the
' relevant control s'ignals -to all other units?

(A)  Input Unit _ I_ i (B) Memory Unit
(©)  Output Unit | G Control Unit

53. The ALU and control unit are together known as

A) Control Unit - (B) Execution

©) | Memory Unit M Procéssor

54. In wh1ch form the data are stored ms1de the computer"
Octal ' o (:)) Declmal
% Bmary o . o D) Hexadecimal

55. - Complementing of each bit of the given number is called

A 9’8 complement R ®). 28 complement

© 10s complement’ M 1's complement
c R | s HC2CA/16
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56.
57.
58.

- 89,

- 60.

Speed'of the floppy disk drive is measured by |
CPS o - ® LPS

(4) |
/RPM' | o ©) PPM

Which is called ingtructipn address odunter in the control unit?
(A) . Count register

% Program counter -

- (©) " Instruction register

(D) Accumulator

Which one is called Secondary Storage?
(A) - Main memory , ' M Auxiliary memory
(C) Primary memory ' - (D) Cache memdry

Which of thé following mouse has no ball or rollers?

(A) Mechanical | B p{ Optical
(C) Opto mechanical o D) Serial
VDU stands for

(A) - Visual Delay Unit
(B)  Vector Display Unit
ﬂ( Visual Display Unit

(D) Vector Delay Unit

HC2CA/16 o : i



- 61.  To display the entire contents of a directory in MS-DOS, which command is used
A TYPE cqmmand | |
®B) 'MD cbmmand

y PATH command

p( DIR command

'In'MS-DOS, the primary hard disk drive has the drive letter-
@ A o ® B.

7o . @ >

'63. Linuxisan operating system. . . _v o
(A) Microsoft | (B) Windows
(C) Mac , % Open-source .

64. Mlcrosoft windows is ‘ .
M An operatmg system C
Graphic program
(C) Word processing app]icatiog

(D) Database prdgram

65. o ' are containers that have many files and subfolders under them.
@ Files | . & Folders
(C) Program , (D)‘ Version
e 4 o 15 — | © HC2CA/16
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66.

67.

-68. -

69.

- 70.

Which of the following is not the type of page margin in MS-Word?

B) Left | ®) Right

% Center ', S ' (D) Top

keep a paragraph together if only one line overflows to the top or is left at the
- bottom of a page.. '

{ Wmdow/orphan control

- ® Keep with Next

© | Supprese line number

(D) Don’t Hyphenate

Which button in standard toolbar is used to restore the text to its original form by removing
all the changes?

" (A)  Redo button - p’ Undo button

(C) Save button - . (D) Copy button

. Page formatting items such as headers footers and background colours does not appear in

document view..
A) ~ Web layout"view . s %Nomial view

(C) Pagelayoutview (D) Print preview

The readymade formats for creating letters in MS-Word is called

(A)  Word Art ®) Clip Art

(C)  Auto correct . . % Templates

HC2CA/16 o - i6 | e



91. ~ To goto the beginning of the worksheet, press‘ ’

A | Home

72. MS Excel files havé which of the following exfénéion?

@ .ppt - S (B). .doc

o % xls | o (D) .excel

- 78. Whlch of the fo]lowing methods cannot be usedrto edit the content of céll?
o ’ M Préssing the ‘;&'It kéy ‘
| ®  Clicking the formula bar N
| (C) Pressing F2

(D) Double clickiné the cell

. 74. To insert three »colun‘m's beﬁweeq column D and E you W‘?“ﬂd g
(A)" - Select column D | | E |
| 1 % Select column E
-+(C)  Select columns E,iF and G
1)} .‘ Selecf coluxﬁns D,E |

e » HC2CA/16
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75.

76.

71.

78.

79.

~ Which of the following is not a valid zoom percentage in Excel?

M.SOO , | ' , (B) 400

(©) 300 - . (D) 200

Which of the following fill effects cannot be used for the slide background?

(A) Gradient 0 (B) Texture

'.(C) Picture : . M Transition

' MS PowerPoint files have which of the following extension?

@ ppx Y £

(C) .Power point ' (D) “.pp

Which key on the keyboard can be used to view slide show"

@ Fr - | . ®) F2

%F5 e | (D) F10

To add a header or footer to your handout, you can'use
(A) Title master

Shde master

‘ K Hand out master

(D) Place holder _

'HC2CA/6 | 18



QQO. In ordervt‘o; edit a chart, you can
@A) cnék the chart object "
o y ' Déuble click the cﬁart object
| (C) Tﬁple click the chart object

(D) Click and dfag the chart object

81.  Each rowin MS-Access table represents

M Revcord

© Data}base ,

(B) Field

(D) Table.

- 82. The indjviduai elements hke labels, text boxes eﬁ_c Which are added to the"MS-Access_ formis-

"~ called

(B) Memo

(D) Text .

83. Which of the following is not the type of action query?

(A) Delete

(B) Append
(D) - Update

o 84 ' | A prima_u'y key in any table has -
B ; / Not Nm».& No dup]icat‘e -
| (B) -Null & Duplicate )

: (C) Nu]l & I"Ion-Redundan_t'
@) Not Null & Redundant

properties.

HC2CA/16
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85.  Which of the f9]lowing is not the ‘obj;ect of Database? ST “ e o

(A) Table S (B) Reports

(C) Forms I : M ProjectS'

86. . Received E-mail ié si:oredinfhe ' .
(A) Output box. | p’ Inbox
(C) - Text box | () Tool box

87. - Identify the web browser

(A) MS Office ®B) wmaowg XP

}f Internet Explorer . (D) Orade
88. : — is a combination of hardware and software that sends data‘ from oné

location to another. ‘
(A) Ahardware = B) Asoftware
| % A network ' _ (D) System software

89.  The device which is used to convert digital to analog and viceversa is

@) Switch P Modem "

(©)  Router L "~ (D) Hub

90.  The first page of any website is called
(A) Front ﬁage - : - (B) Preyious page
' © | Back p'age ' ' M Home page

HC2CA/16 - - 20 o e



’. The proBlem of vertical black line running down to the entire length of the printed paper is
* the symptom of ' | '

(A) Loose toner
(B) Improper selection of paper for the print device:
" (C)  The photoreceptor drum in a Iaser pnnber wears

M The laser printer toner catridge is nearly empty

92. Modem is connected to the computer through — Interface port.
(A) Advanced graphics port |

Network Interface ca:d

% Universal Serial bus B . e

(D) Small computer sysbem mterfaoe

93. The pop.ular standard used for serial communication in PC is

(A) ISA ' | - (B) ATA

p’ RS232 | o (D) PCI

LPT port is also called _ . _

/ Parallel port (B) SVGA ) .
USB 7 (O Serialport . .

95.  Which of the following function cannot be carried out using multi function printer?

(A) Fax - o (B) Scanner .- .
_ % Take photo | (D) Photo copier

c . S 21 ' HC2CA/i6
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96. . Software installation files have which of the following extension?
@ . ®). .doc

y .exe _ | 7 | ») XML

An example of a non-lmpacf printer is
/ Laser Prmter

Dot matrix pnnter |
(C) " Daisy Wheel Printer

(D) Drum printer

98.  The control character LF is used to
| % Skip one line on the i)apér .

(B)  Skip one page

(C)  Last Form

® LoadForm

99. Which printers can print to multi-page forms? (i.e.' carbon copies)
(A) Ink-Jet printer
(B) Laser Printer

100. Printer is not a device.
(&) Output p( Input

(©)  External o (D) Pheripheral

HC2CA/16 S 22



